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QL.

Rectifiers are common circuits used in most electronic devices. There are multiple
types of rectifiers used now a days. Explain in detail what are the similarities and
differences between:

1. 1- ¢ Uncontrolled Half Wave Rectifier and Full Wave Bridge Rectifier
2. 1 - Uncontrolled Rectifier and Controlled Rectifiers (Bridge Rectifier).

CLO 2

Marks 10

Q2.

A AC voltage of Vm = (Last 2 digits of ID) V has to be delivered to a Resistive
DC load of R = (First 2 digits of ID) ohms.

The load and source are connected through 2 types of 1 — ¢ Uncontrolled rectifiers
(Half Wave and Full Wave Bridge) and data is collected. Find the following for
both rectifiers:

Vdc

Idc

Vrms

Irms

Which rectifier do you think is better and why.

arONE

CLO 2

Marks 10

Q3.

The Buck chopper is a type of DC-DC converter. Explain in detail the principals
and working of Buck converter when the switch is open and closed.

The buck converter is connected to a DC source voltage of Vin = 50V. The duty
cycle is D = (Last 2 digits of ID) %, load of R = (First 2 digits of ID) ohms and
switching frequency of 20kHz. What will be the

1. Vout
2. lout
3. lin
4

Inductor (L)

CLO 3

Marks 10




Q4 | The Boost chopper is a type of DC-DC converter. Explain in detail the principals | CLO 3
and working of Boost converter when the switch is open and closed.
The boost converter is connected to a DC source voltage of Vin =50V. The duty | pmarks 10
cycle is D = (Last 2 digits of ID) %, load of R = (First 2 digits of ID) ohms and
switching frequency of 20kHz. What will be the
1. Vout
2. lout
3. lin
4. Inductor (L)
Q5 | The Buck-Boost chopper is a type of DC-DC converter. Explain in detail the CLO 3
principals and working of Buck converter when the switch is open and closed.
The Buck-Boost converter is connected to a DC source voltage of Vin = 50V. Marks 10

The Output voltage Vout = (Last 2 digits of ID) %, load of R = (First 2 digits of
ID) ohms and switching frequency of 20kHz. What will be the

Duty Cycle (D)
lout

Vin

Inductor (L)

NS
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